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Find four equivalent fractions for each of the following fracti
actions :

2 4 3
(a) = (b) — ()2 (d) 2 6
3 9 (e) E (f) _6_
" Find the value of x in each of the following cases : 17
2 27 x 121 '
@) 2 == (b) == % X
3 x 12 132 5 80
Check whether the given fractions are equivalent or not :
(a)iand 24 (b) land & (c)l_i d 3 45 5
5 30 11 32 35 T (d) and 2
. . . 7
* Convert fractions into equivalent fraction having the numerator 60 :
(@) > >0 > |
: (b) — (€)= ()2
45 12 40

Find the equivalent fraction ofE having :
7
(d) denominator?

(c) numerator 50

(a) denominator 35 (b) numerator 45

Fing osut the smaller fraction in each pair of fractions : 3
(3)—,— ( _?_'_7_ (C)Z’Z (d)—a—,__
7°7 1313 29 131
Chalngze the given fractions into fractions having the same denomigatogr :
(a) == (b) > = © 2516

67 1216 20 1
Wh(i‘chzof the following fractions is greater? 9 7
(a)— = 711 € 2025

79 (b) 9°18 02
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